MICROECONOMIC PROBLEMS

CLASS #8, 19TH OF APRIL 2005

Problem 1

Tom works for a ‘dot.com’. For regular hours (160 a month) he earns 20. For each extra hour he is paid 30. He also has an apartment he rents to somebody else, which yields him 1000 a month. His utility function is given by U(C,R)=C*R, where C stands for consumption, while R denotes leisure. He has 320 hours a month at his disposal. How many hours will he work? Draw also a picture. 

Problem 2

In a ABC city there is only one factory and there are talks about layoffs. People employed there are offered two options. They can either work at the most 20 hours a week at 6 per hour or work any amount of hours they like, but then the hourly wage becomes 4. If each employee has 100 hours of leisure time per week and his utility function may be approximated by U(C,R) = C2R2 what will they choose? The social fund is paying out 100 to everybody regardless of the working scheme chosen.

Problem 3

The utility function of each employee in company XYZ (owned by the State) can be approximated by U(C,R)=C1/3R2/3. Each of these workers has 460 hours per month to be allocated to work and leisure. The wage is kept at the level of 10 and there are no social benefits. 

a) How long will they work?

b) The factory is to be closed because it is not profitable. To calm the social moods each employee will be offered an unemployment benefit that can keep him indifferent between working and being unemployed. Find this benefit.

Problem 4

Company XYZ has two rather untypical job offers. Two candidates have replied and each of them really values his leisure time. Only high earnings can convince them to work. 

Mr ASDF without working earns 1500 a month (a benefit and interest payments). He does not like to work, his utility is given by U = C1/3R2/3.

Mr. ZXCV lives from copyrights. Monthly he earns 2500. At the same time, he is a devoted follower of balance-in-life concept, which yields the utility function of U = min(C,R).

When will each of them accept to work? Assume they have 420 hours a month at their disposal.

Problem 5

Kinga is a lovely young woman, who only cares for clothes and make-up. Her utility function may be represented by U = cosmethics0,4*cloth0,6. She makes 3500 a month, while the average prices for each of these goods  oscillate around 20. Her boss wants to move her to another town where Pcosmethics=20, Pcloth = 40. Kinga did her homework once and she knows what are the equivalent and the compensation. She believes that moving here to another city is just as bad as cutting her wage by A. On the other hand, she would not mind being transferred if her wage was increased by B. Find A and B. 































